PA19-0	006 GSS wireless sensors	
Item	Description	Approved product price
		(price per unit unless specified)
1	GSS Renl-Time Vibration Monitoring S:r:stcm	HKD 40000
2	Series 1A04-WISENMESHNET 1-Channel VW Interface Node	HKD 15696.2
2		
3	Series 1A04-WISENMESHNET 1-Channel VW Interface Node	HKD 2190
4	A5 - Automatic vibrograph with datalogger	HKD 39468
5	Mounting plate	HKD 550
6	GSS Sensor - External battery pack (36 months battery life)	HKD 6000
7	Webpage Monitoring Portal basic frameware setup	HKD 14000
8	Webpage Monitoring Portal sensor service	HKD 5,000 for I sensor per year
9	Each months SIM card data services	HKD 108 for I Sensor per month
10	HKD 40000 (3GV-01/3GV-02 Vib Sensor) HKD 28000 (WMS-02 Tilt Senor) HKD 20000 (WMD-01 USB Dongle) HKD 30000 (WMM3G	Refer to description
	3G Gateway) Typical Arrangement: 1x USB Dongle / 1x 3G Gateway + 3x Tilt Sensor (Appro. HKD 114,000) or 2x 3GV Vib Sensor Appro.	
	HKD 80,000	
11	WMS-02-SD	HK\$28,000.00
12	WMD-01	HK\$20,000.00
13	WMM3G-04	HK\$30,000.00
14	3GV-02U	HK\$40,000.00
15		Refer to description
	Description Description Description Description Description Description Description Description Description Quantity Unit Price Amount HKD 1. Water Level Monitoring at 3 locations (by WISENMESHNET system), including installation of vibrating wire piezometer (Max 30m) and 1-CH vibrating wire sensor node at existing Standpipe / Piezometer 2. Vibration Monitoring at 12 locations, including installation of vibrating wire piezometer (Max 30m) and 1-CH vibration (Max 30m) and 1-CH vibr	
	Geotechnical monitoring website (for 25 users) for 12 months monitoring 12.00 8,000.00 96,000.00 of all the above sensors (per month)	1
	Site visits to check or repair damaged equipment. Material / replacement 12.00 5,400.00 64,800.00 costs will be charged separately. (Rate only)	
	Subtotal 574.885.00	
	TOTAL HKD 574.885.00	
16	SOUTH South Instruments Technology Limited Tel: +852 9293 3993 Fax: +852 3705 0140 Tel: +852 9293 3993 Fax: +852 3705 0140 E-Mail: sales@southsurvey.com.hk	Refer to description
	To : Hing Seng Builder Company Limited	
	8 IF, KOHO, 73-75 Hung To Road, Kwun Tong, Kowloon, Hong Kong Attn : Mr. Terry Yeung Re :	
	e-mail : terryyeuru@mwoorstruction.com.hk No : 1905010QR3 Tel. : +852 9274 7313 Date : 19th Aug, 2019	
	Fax :+852 3110 2202	
	Surveying Instruments & Accessories	
	Contract No.: 60580729 MONITORING FOR FOUNDATION - SITE A2 (Skycity) PROPOSED DEVELOPMENT AT SKYCITY SITE A2 L894, PORTION OF CHEK LAP KOK LOT NO. 3	
	Item Description Qty Rate 'U/P (HK\$) Amt. (HK\$) QUOTATION	
	GSS Real-Time Vibration Monitoring System	
	1 3GV GSS 3G and Vibration Sensor (3GV) 10 Set 28.400 284.000 Specification: Vibration Limity(Y,Z): +/-8G Conformance DIN45090-1 Maximum Response: 11-bo 11-bit 12-bit 1	
	2 System Accessories 10 Set 8,940 89,400 included: - Protection Metal Case - Solar Panel System 4 System 4 12 months SMI card data services with Webpage Monitoring Portal - System Installation service - Training for Webpage Monitoring Portal operation - Training for GSS 36 and Vibration Sensor (3CV)	
	Net Total:	
	07040040 07040	
	Delivery: 1-2 weeks after receipt of your firm purchase order: Payment: 50% deposit, 50% C.O.D. Price: FXM Monk Know in HMCR basic	
		1

PA19-	006 GSS wireless sensors					
Item	Description					Approved product price
						(price per unit unless specified)
17						Refer to description
1						rector to description
	Description	Quantity	Unit Price	Tax	Amount HKD	
	A1 - Vibrating wire piezometer with data logger (19 sets)					
	Series 1A04-WISENMESHNET 1-Channel VW Interface Node	19.00	15,696.20		298,227.80	
	VW Piezometer	19.00	4,815.60		91,496.40	
	Signal cable (per meter)	910.00	32.50		29,575.00	
	Battery Pack (included)	0.00	0.00		0.00	
	A2 - (Not applicable, included in A1)					
	A3 - Automated tiltmeter with datalogger (8 sets)					
	Bi-axial tilt sensor nodes	8.00	9,099.50		72,796.00	
	Battery Pack (8 sets, included)	8.00	0.00		0.00	
	A4 - Automatic crack meter with datalogger (4 sets)					
	Series 1A04-WISENMESHNET 1-Channel VW Interface	4.00	2,190.00		8,760.00	
	Node					
	Uni-axial Vibrating Wire (VW) Crackmeter with 1-CH VW node	4.00	3,312.00		13,248.00	
	Signal cable (per meter) (included)	0.00	0.00		0.00	
	Battery Pack (included)	0.00	0.00		0.00	
	A5 - Automatic vibrograph with datalogger (5 sets)					
	GSS vibration sensor node on wall / ground	5.00	39,468.00		197,340.00	
	Company Registration No: 774558. Registered Office: Attention: Mr Andy K L WO Kong.	NG, 22/F, Tower 1, The	Quayside, 77 Hoi Bun	Road, Kwun Tong	, Hong Kong., Hong	
18	SOUTH South Instruments Technolog	gy Limited St. Fotan, Shatin, Hong Kong		Tel: +852 9293 3993 E-Mail : salesd	Fax: +852 3705 0141 @southsurvey.com.hk	Refer to description
	To : Geolechrics & Concrete Engineering (HK) Ltd					
	Ground Floor, 2-8 Ko Shan Road, Hung Hom, Kowloon					
	Altn : Ms. Cornie Lau e-mail : cornie.lau@gce.com.hk Tel. : +852 9651 0155			Re : No. : 1905067Ql Date : 13th Jan, 2		
	Fax :			Date 1 Tolling E	or o	
	Surveying instruments & Accessories			V-100 - V-100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 -	CONTROL DE LA CONTROL DE L	
	Contract No.:					
	Bern) Description QUOTATION		Qty Rate U/P	(riks)	Sinc (HKs)	
	GSS Real-Time Vibration Monitoring System					
	1 3GV GSS 3G and Vibration Sensor (3GV) Specification:		3 Set	30,000	90,000	
	Conformance: DINA5698-1 Maximum Response: Hz to 1KHz Accuracy; +/-6%					
	Sample Rate (Hz): 1000, 2000, 4000 Peak Particle Velocity (by dealign): 0,05 mm/sec to 3000 mm Peak Particle Velocity (validated): Up to 620 mm/sec Hearthean Helensky	√sec				
	Heartheat Interval: 30 sec 12 hours Timos Stamping: 1 milliscoond Buffer Size: 1MB Alent SMS Numbers: 5					
	Tall Ollo Hullions					
				Total:	90,000	
			Less: Dis		6,000 84,000	
				CONCURS OF THE STREET	Sold of Asset Control	
	Delivery : 1-2 weeks after roceipt of your firm purchase order. Payment : C.O.D. Payment : C.W. Hoop Your in UKS Darie.			84	1000/3=28000	
1.5	Price: EXW Hong Kong in HK\$ Basis. Ramarks: 11 Blasse sign short and salare the whole cause to us but for	v rátkla 9 maoka				
19						Refer to description
	1b Quotation for 1 Rover, HAPPY GEM-X11 GEM-X11, 336 channel GPS/GLO/GAL/BDS including hour	aing.	8 Set	99,060	792.480	
	Point on Server (HKD 4,640 Each sensor per year, Total 8		2 yrs	37,120	74,240	
	Installation for setup server (software) Happy Server Service (HKD 10,000 Each sensor per year.	Total 8 sensors)	8 job 2 yrs	4,000 80,000	32,000 160,000	
	Bridge Monitoring System - Tilling Monitoring					
	2 3GV GSS 3G Titting Sensor (3GV) Specifications:		8 pc	32,000	256,000	
	Specinizations Euler Angles: Pitch +/- 90», Roll +/- 90» Resolution: 0.0035» Accuracy: +/- 0.005»					
	Temperature Stability: +/05∘(-45∘to 110∘C) Stabilisation Time: 10 secs					
	Step Response Time: 2 secs Sample Rate: 50Hz Heartbeat Interval: 10 sec to 12 hours					
	Buffer Size: 128kb Pre-Alert Buffer: 8192 samples (- Post Alert Buffer) Post-Alert Buffer: 8192 samples (- Pre Alert Buffer)					
	Pre Alert Rate: 1 sec/sample to 10 sec/sample Post Alert Rate: 1 sec/sample to 10 sec/sample Alert Thresholds: 0.5-to 70.0>					
	Rearm Toterance: 0.5-to 45.0-s Rearm Stable: 1 sec to 300 sec					
	3 Real-time Web base Monitoring system					
	3 Webpage Monitoring Portal basic frameware setup 3b Webpage Monitoring Portal service		1 job 24 mth	14,000 8,500	14,000 204,000	
	(HKD 500 for 1 sensor per months, Total 17 sensors)			-,	a	



